Section 2.4(Hints)

3. Since |\/r — 2| < 04 & —1.44 < x — 4 < 1.76, so we can choose § such that
|z — 4| < § implies —1.44 < z — 4 < 1.76.

4. Since |x2—1|<%<:>‘/7§—1<x—1<‘/76—1, so we can choose § such that
\x—l]<5imp1ies\/7§—1<x—1<*/7é—1.

19. Since [£ — 2| = \m;3|’ so let 6 = Be.

20. Since |(2+3) — 2| = |z;6‘, so let 0 = 4e.

21. Since |(4 — %) - 7| = @, so let 0 = Ze.

22. Since |£H212 _ 7| = (2 44) — 7| = |z — 3], s0 let § = €.

r—3
23. Let 6 = e.
24. Let 6 = 1.

25. Since |22 — 0] = |x|?, so let § = /.
33. |22 — 9| = |z + 3||z — 3| and |z + 3| < |z — 3| + 6.
41. L > 10000 < |z + 3| < 0.1.
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